



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right) - \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{5}\right) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{71}{216}\right)$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(\frac{1}{5}\right) + \frac{1}{6} = \frac{11}{30}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{6}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{2}\right) = \frac{1}{6}$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{17}{125}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{3} = \frac{5}{24}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} = 0$$

$$\left(-\frac{1}{5}\right) - \frac{3}{4} = \left(-\frac{19}{20}\right)$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{107}{216}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) = \frac{5}{16}$$

$$\left(\frac{1}{6}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{7}{12}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) = \left(-\frac{37}{750}\right)$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{3}{5}\right) = \frac{1}{10}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{21}{40}\right)$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{42}{125}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{5}\right) = \frac{33}{125}$$

$$\left(-\frac{1}{6}\right) - \frac{1}{2} = \left(-\frac{2}{3}\right)$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$